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Do not open this booklet until asked to do so...

RATIONALIST TALENT SEARCH EXAM 2018

STD:Il &M :37 Roll No.

Date of Examination : 11 February 2018, Sunday
glgnefferdt g=A / Guidelines for the Candidate

1. U9 Yftaehdict Te U9 SIS AT et Faser Wt e we.
Please make sure that all questions are printed properly in Question booklet or
not.

2. YT AT & TRET SHATERTE ek UTHiehT (e TeaT=l W Shied ST,

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

3. ufken g& guangd fageneatn e dyut Al Wt wvarEdt 30 fafRe it as qvam
EES

You will get additional 30 minutes to check and make sure about the information about
yourself on the Answer Sheet before the start of the exam.

4. FQ IGRETRALE TRUT 100 T ST Tedkeh TYETS! 2 T[0T 3Tz
This question booklet contains 100 questions each question carries 2 marks.

5. ©d U9 AUl STavaeh 3TE. Yeheal ScIagge! MasTeiedl TN $Haeare! Sehi T[0T Tl het
HTUTR ATEH.
All questions are compulsory. There is no negative marking.

6. SIUCHATY ! TR [HeaTeaTH W T Tl
Check to make sure that you have received the appropriate test booklet for your standard.

7. UATEMER thaes Tehd el sRIeR TR, SNieR ScRTETs! Uehe

There is only one correct answer. Choose onIy one option for an answer.

8. IcalTaN U WIUATHTS! Sheles hiest / fHest T SieTa=<r anawrEt.
To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black
Ball, Pen only.

Eg.

Q. x : - Fill in the blanks.

My father went..........covrvecrrcenennes To buy some milk.

a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding To option a) in the Answer

Sheet as follows.
CORRECT METHOD WRONG METHOD

| @OOO| [«x @GO @]
9. UM HUCHTER gl ScUTIhT THALTERIEhE IR SHUTal.

Return the Answer Sheet to the invigilator at the end of the exam.

10. STTIET URET SHHTH TITYREThar GEaT ToTeTal a Het TYgieceht URET ShicTaeiFaR e diad
11

Write your Roll No. on the Question Paper too and take it home for future reference.

Visit www.rtsexam.com for answer key after 8 days




Identify the picture -

A) Top B) Pipe C) Sink

Find the rhyming word of TREE.
A) Free B) Liar C) True

Select the verb that describes the following picture:

A) Shout B) Sing C) Drink

Choose the word which is opposite to the given word.
Cry
A) Laugh B) Entry C) Shout

Match the animal to its home:
A bird lives in a .
A) Shed B) Nest C) Hole

Identify the noun.
| watch TV.
A) TV B) I C) watch

What is the synonym of the word
ARRIVE
A) Come B) Depart C) Close

Find the correct plural number of the word
CAR
A) Crews B) Cars C) Cares

ey A,
Identify the Laptop?

B) C)

D) Tap

D) Look

D) Walk

D) Sad

D) Tree

D) none of these

D) Reach

D) none of these




10.

11.

12.

13.

14.

15.

TR SHIUTRT <hI0T ?
A) gaR B) IR

Who makes furniture?
A) Carpenter B) Blacksmith

SiereT=l T THIUT ?
A) TUTFE SUSR S0 B) HI0TIAT foreRemt

What is the job of a doctor?
A) To treat Patients

et e Ui mgh T o sheEn?

From the following Pictures identify Rajiv Gandhi

B) Uigd

What is the colour of Crow?
A) Green B) White

WAl o ShuTd d 3TiesE.

A _.j___ |§|ﬁ_

S

A) Tajmahal

B) Red fort

WAt A9 AT,

Which one of the following is Pineapple?

C) TR

C) Cobbler

C) @ WUt

B) To teach Patients C) To play games

C) Blue

C) TS

C) Raigad

D) Taest

D) Milkman

D) ITUH! AT

D) none of these

D) hTe81

D) Black

D) Efem e

D) India Gate




16.

17.

18.

19.

20.

21.

22.

ATSTHEEA ShIUTT I 37T ?

A) faeett B) ShIAGY c) g

In which city the tajmahal is situated?

A) Delhi B) kanpur C) Pune
QT Tehl S0 T TR 2

A) TSI B) 35T] C) e
Which one of the following is not a State?

A) Gujarat B) Hyderabad C) Kerala
TATEMT ShIUT ATl ?

A) UreiE B) gaTS Hadl C) Slaex
Who operate Hospital ?

A) Police B) Air Hostess C) Doctor
WA gemen HUT 372,

A) T B) &rTfiieh C) aINTeR
Independence Day is our Festival.

A) National B) Religious C) Social
URZTd A0 1T A8 ?

A) G| B) WY 3TTER C)u
Which one of the following is not a common thing in Post Office ?
A) Money B) Money order C) Letters
AYTciIet Tt AigAT hivTdT ?

A) AR B) S C) fed=m
Ninth month of the year is

A) September B) June C) December

——

D) ITUH AT

D) None of these

D) 3R

D) Agra

D) AEATIT

D) Madhya Pradesh

D) ITUHY AT

D) None of these

D) TR

D) Political

D) &

D) Gold

D) 3L

D) August




It TR TR AU A TeTdeh! [T ShIUTAT ?

A) AR B) SATTEE C) fea= D) S
Which one of the following months comes just after July?
A) September B) August C) December D) June
TreATe oo gufeiey et ShivT ?

\Y s

N

A)ng;'cm?ﬁﬁmgﬁ B) GHTHIg &M )N ewua™@ D) federre

Identify the great personality in the picture given below?

SV
A) Ma_htma Jyotiba Fule B) Subhashchandra Bose
C) Lala Lajpatrai D) Vivekanand
IR A= va e
e § e R

) SHqH 9) |TER

) am ?) fuvrem

&®) A 3) ®Ue

A) 3“3, a_?9 E_? B) a:{_?a a_?9 75_3 C) a:{_?a 3_39 %-R D) 31_39 a_?QEF’_?

Match the columns and select the correct option.

Column 1 Column 2
a) Cotton 1) Sugar
b) Jute Plant 2) Bags
c) Sugar Cane 3) Clothes

A) a-3, b-2, c-1 B) a-1, b-2, c-3 C)a-1, b-3,c-2 D) a-3, b-1, c-2




27.

28.

29.

30.

31.

32.

33.

34.

WTeATcTdeh! Tehd HATER <hiTTAT ?
A) HrEE B) Sheht C) e

Which one of the following is a Healthy diet ?
A) Orange B) Banana C) Bread

gives us rain water

A) Forest B) Animal C) Cloud
WTeATAdh! ST T U ?

A) & B) UG C) T
Which one of the following is the colour of the teeth ?
A) Green B) White C) Yellow

qHZAT ShThTAT HATAT hi FgUTC 7

A) GrER 9T B) WIS C) S
What do you call your Uncle’s Son ?

A) Step Brother B) Brother C) Sister
I faem Faer.

AT TR B)gEESHE AR C) g fma

Choose the correct option.
A) The air is colorful B) Air is living thing  C) Air can be seen

FATAIAT SEIATST 9Tl TR F9d ?

A) ot B) &t C) TR
Plants do not need to grow.

A) Water B) Umbrella C) Sunlight
gSRTE IR ?

A) Tes B) WSTt C) =
Radish is a .

A) Fruit B) Vegetable C) Grain
Tge@ foran sraam.

A) 3T B) &M C) wedtE
Watermelon has seeds.

A) Many B) Two C) Twenty Six

D) g

D) Milk

D) <l

D) River

D) ¥t

D) Red

D) T[T WIS

D) Cousin

D) gant fAsttar ammg

D) Air is Non-living thing

D) g

D) Air

D) 3&F

D) Fuel

D) T

D) One




35.

36.

37.

38.

39.

40.

41.

42.

T AT Ui et

A) UI9e B) TH C) g
Which of the following is a misfit in the given group ?
A) Parrot B) Rabbit C) Dog

THIM T FHOATETS! Telid SITEd 8 AR ?

A) HR B) fermm C)ed

Which will be the most expensive to travel ?

A) Car B) Aeroplane C) Railway
WTeAdh! ShITTA! hU- HIATEe S-ad ATgl ?

A) | B) SSITS C) THE

Which of the following is not a mobile production compnay ?
A) Sony B) Bajaj C) Samsung

YT TR AT URERTET i TguTard ?

A) T B) ¥ C) IR
The area around your house is called your

A) State B) Country C) Neighbourhood
wE U eed e .

A) T B) & C) %A
Some animals gives us .

A) Fruits B) Wheat C) Flowers
Wil HIETEN 3T hHIvTd ?

A) QT B) &M C) wra
Which of the following is Non vegetarian food ?

A) Soyabean B) Brinjal C) Fish

IEIEATd ATYUTTH WA IeTteh! HIT= J1H 2l ?

A) Tm™ B) oSt C) g

We suffers from which of one of the following in Summer ?
A) Sweating B) Cold C) Air
QAT ShIUTAT S=TIT0N AT ?

A) A B) 3¢ C) g

Which one of the following is not a Wild animal ?

A) Bear B) Camel C) Deer

D) "SR

D) Cat

D) Vgt

D) Ship

D) SfeRaT

D) Nokia

RIS

D) City

EC]

D) Milk

D) ITUH! AT

D) None of these

D) U@t

D) Fan

D) o

D) Giraffe




43,

44,

45,

46.

47.

48.

49.

50.

B) |T=IOY C) U9t ATAdUl D) 3THich hivl

Look at the Picture and Select the correct action word from the options.

A) Walking B) Reading C) Cycling D) Bathing
‘a1l =11 g foregenedt vreg wturn ?
A) a2 B) S1egH C) etk D) &

‘Al A1 vIsaTeN FHETE vIee HhivTaT ?
A) T B) T C)q@ D) aliet Td

Wt 38R e TR FIUTRT 31e0Yui v1eg At FHaet ?

g & AT &

A) FTEHA B) WTEITeh C) TeTeRET D) THETA
W YEEHTS! THgayieh ard 168 YT (Haret.

2Ieh! HuTT=I —

A) B) WO C)qe D) TR
WTeilel ITeE et “Eferit’ vrsa snem.

A) ST B) gl C) S D) S
Tt ar=a o,

A) Frer B) AT=Ih C) TR D) |I&R
J[GY V158 WIEHIGTUh! ShHIUTAT ?

A) I5he5 B) B ) e D) 3Tt

——
~
| —



51.

52.

53.

54,

55.

56.

57.

58.

T HATHR TR TGeral.
A) SRR B) <k C) SIh-aha

The sun changes its shape every day.

A) Right B) Wrong C) Wrong-Right
TR T G IV ?

A) TS B) 3ig C) S

Which is our national flower ?

A) Rose B) Marigold C) Lotus
WRATS Ut AT <hIUT ?

A) TR It B) TheUHT el C) et Hegrn

The first Indian astronaut was

A) Rakesh Sharma B) Kalpana Chawla  C) Ravish Malhotra

WTeAdeh! A9 aiem Taeel SATaETREeh Hagt.

A) Femrer B) STEfavIRg C) =gt

Select the professional who is not related to the other three.
A) Painter B) Architect C) Barber

uert fohohe wama fordt WeTg stoam ?

A) 2% B) ] C) ¢3

How many players are there in a cricket team.

A) 11 B)9 C) 13

‘u¢’ & T e foret. I vare faE.

A) Gt B) HgH C) T8+
Write in words the figure — 58. Choose the correct option
A) Fifty seven B) Sixty seven C) Fifty eight
& THICSAT USRUT TTehiel T fohelt ?

A) S« B) R0 C) %%

5 cars have total wheels.

A) 15 B) 20 C) 16

£e= 4

A) ko000 B) wo C) go0o0

Rs.5 means Paise.

A) 5000 B) 50 C) 100

D) ITUHY AT

D) None of these

D) A%

D) Sunflower
D) sicTd<h! |l

D) All of these

MRIEEY

D) Mason

D) g4

D) 15

D) ueamtsft

D) Eighty five

D) ¢

D) 18

D) 400

D) 500




59.

60.

61.

62.

63.

64.

65.

66.

IaLe shETE gata faet.
A) R¢,3%,3%,%0 B) ©3,&3,&%,4R C) ’j4,&3,40,%09

Which of these is arranged in descending order ?

A) 18,22,32,10 B) 72,63,61,52 C) 95,63,80,97
YT T |igAT ShivTr ?

A) AT B) Uftiet ok

Fifth month of the year is .

A) March B) April C) May

Teh! ST 34 Ht AT, R Tl STiciet Ut et fehet 2
A) 3 + ¢ B) 34+ ¥ C) 3ux 4

D) RR,£4,3¢,0

D) 22,85,38,20

D) SIq

D) June

D) 34+ 34

Each class has 35 students, How many total students are there in 5 classes.

A)35+8 B) 35+ 4 C) 35x 5
33 TTATSAN Ueh ATH RN FguTt fehell 2

A) ¢.00 B) €.00 C) R.00
8 O Clock is an hour before .

A) 8.00 B) 6.00 ) 9.00
T WesvaTe fhua Hata SR g ?

A)TZ— 4o & B)Sic — 40 & C)aEeA — 30 %
Which toy has maximum cost.

A) Ball — Rs.50 B) Bat — Rs.150 C) Doll —Rs.30
frermean adesTa HIUTH T A,

Y ARYR RV
QOIS

A) %00 B) 2%« C) Roo
What comes in the blank circle?

(5e) (=0 (75) () (155

(25) (50) (75) () @29

A) 100 B) 115 C) 200
FrRuTren fehedt a1 SETa ?

A) ¥ B) 3 C)«

How many sides are there in a triangle?

A) 4 B) 3 C)5
WielteTaeht gehten gata Faer.

A)R4 > & B) 9 > ¢ C)’ >R

Which one of the following option is incorrect.
A)25>6 B) 27 >8 C)9>21

D) 35+ 35

D) .00

D) 7.00

D)®R —90 &

D) Car —Rs.70

D) So%

D) 105

D)%

D)1

D)R <%

D)9<21




67.

68.

69.

70.

71.

72.

73.

TOTTehT <h.

O [x| ¥ | =|7
A) ¢ B) 30 C) % D) 3R
Multiply :

71x|4|=7?
A) 28 B) 30 C)21 D) 32
Teh fehett Wil forma 20 ® MR, T & fohett weit=ht forma femet 2
A)Ru T B) o & C)%o0% D) %R0%
Cost of the one Kg vegetable is Rs.20. Find out the cost for 5 kg vegetable
A) Rs.25 B) Rs.70 C) Rs.100 D) Rs.120
30 Hehg + 30 Hehe TEUTS ?
A) 3 fafe B) ? fafe C) ¥ fafe D) ¢ faffe
30 seconds and 30 seconds makes :
A) 3 minutes B) 2 minutes C) 4 minutes D) 1 minute
TeRelt Ueheh TEUTS! Uek 29TeR SAT ?
A) 20 B) 200 C)o D) ¢
How many ones make a ten ?
A) 10 B) 100 c)o D)1
IS A
R+I+¥+ Y
A) %% B) ¥R C) %% D) £3
Add the following.
2+3+4+5
A) 11 B) 12 C) 14 D) 13
WA STRRTEAT A1d ST,
A) 3Tk B) 3T C) T D) &R
Given below is a shape Name it.
A) Cone B) Rectangle C) Circle D) Square
TATHcdTeh {3 ShIUTe AiZ=ATa TTeil Shell Sl 2
A) S B)® C) S D) JTTEE
Name the month when republic day is celebrated?
A) June B) May C) January D) August

10

——
| —



74.

75.

76.

77.

78.

79.

80.

A) TFR B) C) g%k

We should remove outside the computer room.
A) Bag B) Shoes C) Book
WTATdeh! SHIUT= 1@ 2eet ?

A) Il B) Fe1d C) e

Which one of the following will grows ?

A) Key B) Lock C) Table
TERTSETR AW ShI0T 37T ?

A) SigeRid U B) g HIdt C) 395, wESUTEtE

Who is the Chief minister of Maharashtra ?

A) Chandrakant Patil B) Narendra Modi C) Devendra Fadnvis

TSI STt TALT 0T ?

A) TR B) WSS C) we
What is the capital city of Gujarat State ?

A) Gandhinagar B) Ahmedabad C) Patna

YT Hald STees EUTIT A=l 19 il AR ?

A) g B) W& c) fare
Which is the name of nearest star ?

A) Moon B) Sun C) Rigel
WRATS CEYEY ST TR ?

A) TER SeTHHTE U B) UH. k. iR
C) et SrETet STt D) T
Who is the Strong(lron) man of India ?

A) Sardar Vallabhbhai Patel B) M.K.Gandhi
C) Lal Bahadur Shastri D) Bhagatsingh
WA M9l JBUTR Ug SHeET.

&%, £3,%%,

A) %o B) 3% C) 3¢

Identify the term which matches the group.

64, 83, 46,

A) 40 B) 32 C) 38

11

D) 2™

D) Tie

D) et

D) Boy

D) TgeA et

D) Rahul Gandhi

D) g

D) Surat

D) e33R

D) Altair

D) 3%

D) 36

——
| —



81.

82.

83.

84.

WAeTdeh! T S S ShIvTdl ?

Choose the heaviest object.

i 2 @ =

Trett fietelt STt qut SHuamSt ard A et
Which figure will complete the given figure?
Y 3hdl/ Question figure:

L7 -

ané

A)

N
/ i

A) B) /f C) D)

Wt Ufgean TR ATehe foetedn 3ed, T SRehTgH el o Targe UTeiet 3Tehdl ShivTdl 318 §
AT S

Find the figure, which belongs to the group from the options given below.

® o0 :' :: ?
oo XX
ee ‘XX
o0 ®
A) B) C) D)

TIEIE T3 ST §Iga [QHUTHI STShd! UETaTd Haest.

Find the correct alternative showing the figure identical with the question figure. Choose correct
option.

9 3T/ Question figure:

A) B) C) D)

12

——
| —



85.

86.

87.

88.

89.

90.

factean wva STTeRdi= arvaTdter wfaw ol feliet A Ser anepeainem v,

Find the water image for the Question figure from the answer figure.

g W/ Question figure:

SUN

A) B)

TeTd 9 SHUR Ug 5@,
A) ot B) am™l

Put the odd man out.
A) Deer B) Tiger

TeTd T SHUIR UE {5,

Choose the odd man out.

=

A) B)

Q)

C) ™=

C) Cow

Q)

‘Drop’ 1 Y158 ShIUTeT IToaTeA forbaeneft o1re ?

Select the opposite word for - Drop

A) Throw B) Pick C) Push
WA FEAMTEAT Yot ol

R [ 8¢ | R¥ ‘ 30| |35 | ¥R ?
A) ¥4 B) ¥o C) ¥¢
Complete the number pattern.

12| |18 24| |30| |36| |42] | 2
A) 45 B) 40 C) 48
yATETea AT AUTRY T hivTe ?

RE8

A) 2R B) &

Which of the following replaces the Question mark ?

NG/ N VgV
LN

A) 12 B)5

——

Q)¢

C)8

13

D)

D) Weht

D) Goat

AN

D) Put

D) 30

D) 30

D) ¥

D) 4

'



91. TSN TR URUT Aqesid T fohelt 2
|\8 I|

A)'e B) %0 C)¢ D)R

How many circles are there in the given figure ?

NG

A) 7 B) 10 Q)8 D)9

92. 3 A WU fehdt fafe 2

A) 4o B) &0 C) %o D) §Ro
How many minutes are there in 2 hours ?
A) 50 B) 60 C) 140 D) 120

93. T 9 THUR UT 5T,

Odd man out.

A) B) C)

94.  ETEAIST UFAIA UYATOETea T ShUT AUTRY STThelt SHIUT ?

Which one of the option figures will replace the question figure ?

AVANINE

el : -
WA STTShde ARERTEH HRHeTuT Tl 3 JyTen are Seadren uaid et

Instruction :-
Observe the given diagram carefully and Select the correct option to answer the question.

A F

x/C 0 \\. G

e/

B

14

——
| —



95.

96.

97.

98.

99.

100.

e ST fohell 318N 3TTRd ?

A) & B) 3 C)u
How many letters are there in only rectangle ?
A)6 B) 3 Q)5
Wk AqeTa fehel 18R 3TEA ?

A) 4 B) 3 C) ¥
How many letters are there in only circle ?

A)S B) 3 C) 4
AT q T AT ATTEeh 38R fohedt ?

A) ¥ B) ¢ C)R
How many common letters are there in rectangle and circle ?
A)4 B) 8 C)2
WTcATeTUeh! JTSSAT W1 HIUTeT ?

Which of the following are the horizontal Lines ?

A) B) C) \\\

A) &4 B) R:%0 C) :40

What is the time in the Clock ?

A) 6:45 B) 2:10 C) 1:50
WRATS THE HeA hid g ?

A) TR faeett B) 4% C)gut

Where is the Parliament of India located?

A) New Delhi B) Mumbai C) Pune

15

——

D) ¥

D) 4

D)

D) 2

D)3

D)3

D) R0

D) 2:50

D) STER

D) Amritsar

'



